GTU Mid Semester Exam

VVP Engg. College, Rajkot

B.E.Second Semester (Mech, IT, CE, Chem,BT)

Subject: EEE

Time: 1 hour



Max. Marks: 20

Instruction:

(1)Assume suitable Data If Necessary
Q.1(A) Choose The Correct Answer From Following:


(03)

(1) For a sine wave If Iav = 50A then Im is:


(a) 50A
(b) 78.5 A 
(C) 50/√2 A

(d) 50 *√2 A

(2)  For a sine wave If Im = 50A then Irms is:


(a) 50A
(b) 50/√2 A
(C) 100 A
(d) 50 *√2 A

(3) The operating frequency in INDIA is:

          (a) 60 Hz
(b) 50 Hz
(C) DC
(d) 55 Hz

(4) If T = 20ms then f   is:


(a) 60 Hz
(b) 50 Hz
(C) DC
(d) 100 Hz

(5) Form factor for square wave is :


(a) 1.5
(b) 1
(C) 1.11
(d) 2


(6) If amplitude of current wave is 50 A then its peak Value is:


(a) 50/√2A
(b) 50 A
(C) 78.5 A
(d) 50 *√2 A

Q.1(B) Give  Definitions







(02)

(1)  Frequency

(2)  Time Period

(3)  Wave Form

(4)  Peak Factor

Q.1(C) Answer any one of following:




(03)

(1)  Derive the equation of  AC voltage and current

(2)  Derive Expression for average value of sine wave.

Q.1(D) Calculate The Example





(02)

(1)  If i = 100 sin 10000t find out:

                        Time Period,   RMS Value



    Form Factor, Peak Factor, Frequency

Q.2 (A) Fill up the blanks.                                                                (2)
(1) Resistance of 6 ohm each are connected in a manner shown in fig. with the current 0.5 A as shown in fig. The potential difference Vp-Vq is __________.
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(2) The relative permittivity of a material is 10. Its absolute permittivity will be ________.

(3)The potential at a point due to point charge is 9V. If the distance is increased three times, the potential at that point will be ________.

(4)Insulators have __________ temperature coefficient of resistance.

Q.2 (B) In the given circuit find the equivalent resistance between terminals A and B.

       (4)
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Q.2(C) Define capacitor. Derive its equation and explain on which   parameter it depends.


OR
(4)
Q.2 (C) Define temperature coefficient of resistance. Prove that 
       α2   =    ________1________

                          (1/ α1) + (t2 –t1)
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